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SECTION A
Que 1. Multiple choice questions.
1 inflammatory response, phagocytosis is............

a) Second line defecnce
b) First line defecnce
¢) Fourth line defecnce
d) Third line defecnce

2) Illness id a great impact on

a) Behaviour and emotion
b) Self-Control

¢) Family Dynamic

d) All of the Above

3) Which is the following is tertiary protection?

a) Health promotion

b) Specific Protection

c) Early Diagnosis and Treatment
d) Disability Limitation

4) Sources of Infection are

a) Bacteria b) Virus ¢) Fungi d) All of the above
5) according to Maslow’s Hierarchy needs, first need is:

a) Physiological needs

b) Love and Belongingness
¢) Self- Esteem

d) Self-Actualization

6) Pulse rate below 60 beats/min is known as:
a) Tachypnea b) Bradycardia ¢) Tachycardia

7) Formula for conversion of ° F into ° C:
a) C=(f-32)5/9  b) C=(f+32) 9/5 ¢) C=(f+30) 5/8

8) Normal body temperature is
a)97° f b) 98.6° f ) 95°f d) 99° f

Maximum Marks:50

(1x1=10 M)

d) Bradypnea

d) C=(f+32) 5/8



9) comprehensive health care is provision of a complete range of health service from:

a) Diagnosis to rehabilitation
b) Nursing care

c) Patient teaching

d) Monitoring the patient

10) National health policy developed in the year............

a) 1983
b) 2000
c) 1986
d) 1981
SECTION B

QUE 2. Brief Answer Question (any 5):-
1. Define primary care

2. Define Tachycardia

3. Type of waste

4. Define Nursing

5. Enlist the purpose of comfort measure

6. Respiratory isolation

QUE 3. Short answer questions (any 4): -

1. Staffing Pattern of PHC

2. Level of illness Prevention

3. Hospital

4. Personal Protective Equipment
5. Classification of Hospital waste

QUE 4. Essay questions (any 1): -

a) Define health team
b) Discuss the function of each member in hospital.

c) Discuss in detail about health care delivery system in India.

OR

a) Define Health
b) Dimensions of Health
c) Maslow’s Hierarchy Theory of Needs

(5x2=10M)

(4x5=20M)

10M

wv W N



